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HCF AND LCM

Solved Examples

1. The HCF of z%y%2° and z?y*2%is

A :132y2z3

B. :cyz3

C. :I:y2z3


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_HhOBxoopjD1r

D. m2y2z2

Answer: A

o View Text Solution

2. The HCF of p(z) = 24(6z* —z® —2z*) and
g(z) = 20(2z° + 32° + %) is

A 4z (2x + 1)

B. 62> (22 — 1)

C.6z%(2z + 1)

D. 4z*(2x — 1)

Answer: A


https://dl.doubtnut.com/l/_HhOBxoopjD1r
https://dl.doubtnut.com/l/_AoWjD5OsQ7Kx

o Watch Video Solution

3. The HCF of

8zt — 16x° — 4022 + 482 and 16z° + 64z* + 80z° + 3222

A dx(xz + 2)
B.8z(z + 2)
C.2z(z — 2)

D.8z(xz — 2)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_AoWjD5OsQ7Kx
https://dl.doubtnut.com/l/_5KOY31bUVcjN
https://dl.doubtnut.com/l/_Qh2QoB9mDW6U

4.The LCM of 12zy*2% and 18:1:4 2234

A 24.7;4y2z2
B.32w4yz3
C. 36zy323

D. 21 xyz

Answer: C

° Watch Video Solution

5.The LCM of 2% — 222 — 2z + 2 and z° — 22 — 4z + 4


https://dl.doubtnut.com/l/_Qh2QoB9mDW6U
https://dl.doubtnut.com/l/_ZomDgc79mHd4

A (z —1)(z* — 4)
B. (2% — 1) (> — 4)
C. (:1:3 — 1) (:1:3 — 4)

D.(z — 1)(z — 4)

Answer: B

O Watch Video Solution

6. The HCF of two polynomials is x+ 3 and their LCM is
x> — Tz + 6. If one of the polynomials is =% + 2z — 3.

Then, the other polynomial is

Azl —z21+6


https://dl.doubtnut.com/l/_ZomDgc79mHd4
https://dl.doubtnut.com/l/_dczjQWVf51ze

B.z2+z —6
C.CB2—|—£I?—|—2

D.z2 +x + 3

Answer: B

° Watch Video Solution
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https://dl.doubtnut.com/l/_nmpIC0CxKTMr

LY
m2n?

YT
mn?2

Answer: A

0 Watch Video Solution

2. The LCM of (x-1)(x-2) and z*(z — 2)(z + 3) is
A (z—1)
B.(z — 1)(z — 2)(z + 3)

C.z(z — 1)(z — 2)(z + 3)

D. None of these


https://dl.doubtnut.com/l/_nmpIC0CxKTMr
https://dl.doubtnut.com/l/_PLU4q36kNqJn

Answer: C

o Watch Video Solution

3.The LCM of2(a2 — bz), 3(a3 — b3), 4(a4 — b4) is
A.6(a — b)(a + b)(a® + b*)
B. 12(a4 — b4) (a2 + ab + b2)
C.a® - b

D.12(a* — b*)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_PLU4q36kNqJn
https://dl.doubtnut.com/l/_6XXA7E4TMY4p
https://dl.doubtnut.com/l/_3MS1FmDhAqRe

4.The HCF of 2% — zy — 2y? and 222 — zy — 3 is

C. (2z — 3y)

D. None of these

Answer: D

° Watch Video Solution

5. The HCF of two expressions a and b is 1. Their LCM is

A. (a + b)


https://dl.doubtnut.com/l/_3MS1FmDhAqRe
https://dl.doubtnut.com/l/_wAY16fTRzChv

B.(a —b)
C.ab

D.1/ab

Answer: C

O Watch Video Solution

6. The LCM of the polynomials
(z 4+ 3)*(z — 2)(z + 1)* and (z + 1)*(z + 3)(z + 4)
is

A (z —2)(z + 1)*(z + 4)

B.(z — 2)(z + 1)°(z + 3)(z + A)


https://dl.doubtnut.com/l/_wAY16fTRzChv
https://dl.doubtnut.com/l/_F1nPzDh3PuPx

C.(z —2)(z +3)(z +4)

D.(z — 2)*(z + 1)(z + 3)*(z + 4)

Answer: A

0 Watch Video Solution

7.The HCF of 4y*z — 9y%z3 and 4y?z? + 6y is

A y*(2y + 3x)
B. yz(3z + 2y)
C.yz?(z + 3)

D. None of these


https://dl.doubtnut.com/l/_F1nPzDh3PuPx
https://dl.doubtnut.com/l/_CosG2CIWkCel

Answer: B

o Watch Video Solution

8.The HCF of 22% + 2z, 22 + 1, 2* — 1is

A. (:I;2 + 1)
B.(xz — 1)
C.1

D. (x + 1)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_CosG2CIWkCel
https://dl.doubtnut.com/l/_a2nOyIXJeETq
https://dl.doubtnut.com/l/_CfWowiOBZy4Q

9. The LCM of the polynomials A and B, where
A= (z+3)>%=x—2)(z+1)*and
B = (z + 1)*(z + 3)(z + 4), is given by

A (z —2)(z + 1)*(z + 3)(z = 4)

B.(z — 2)(z + 1)(z + 3)(z + 4)

C(z+ 1)(z — 2)(z + 3)(z + 4)

D. (z — 2)(z + 4)(z + 3)*(z + 1)*

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_CfWowiOBZy4Q

10. For what value of
z,z> — 4z — 5 and z° — 42® — Tz + 10 eliminate ?

A 4

B.3

C.5

D. None of these

Answer: C

° Watch Video Solution

11. The HCF of two expressions is 3z + 4z — 4 and

their LCM is 3z + 423 — 7x®> — 4z + 4. One of the


https://dl.doubtnut.com/l/_JoVblL6dCk29
https://dl.doubtnut.com/l/_UPl6ooDbkQtR

expressions is

A (z +1)(3z” + 4z + 4)
B.(z — 1) (32 + 4z — 4)
C.(z —1)(32* + 4z + 4)

D.(z +1)(32° + =z — 4)

Answer: B

o Watch Video Solution

12. The HCF of two polynomials 4a:2(w2—3w + 2) and
12z(z — 2)(z® — 4) is 4z(z — 2). The LCM of the two

polynomials is :


https://dl.doubtnut.com/l/_UPl6ooDbkQtR
https://dl.doubtnut.com/l/_YpvuwAacoOFt

A z2 (:1:2 — 3z + 2) (:1:2 — 4)
B. 12z (:1;2 — 3z + 2) (:1:2 — 4)
C.4z(x — 2)

D.122° (2 — 3z + 2) (z* — 4)

Answer: D

° Watch Video Solution

13. For what value of z,z°—2z®>—2z —3 and

z? — 2z — 3 becomes equal to zero ?

A3

B.4



https://dl.doubtnut.com/l/_YpvuwAacoOFt
https://dl.doubtnut.com/l/_ILGdplVrs4vl

C.0

D.1

Answer: A

O Watch Video Solution

14. The LCM and HCF of two polynomials p(x) and q(x) are
36z°(z + a)(z° — a®) and z’(z —a) respectively. If
p(x) = 4z (w2 — az), then the value of q(x) is

A. 9z (a: — a3)

B. 9> (:1: — a3)

C. 42> (:I; — a2)


https://dl.doubtnut.com/l/_ILGdplVrs4vl
https://dl.doubtnut.com/l/_WbmkAC5IOtan

D. None of these

Answer: B

° Watch Video Solution

15. The LCM of two polynomials p(x) and q(x) is
x> — Tz + 6. If p(z) = (zcz + 2z — 3) and
g(z) = (z° + = — 6), then the HCF is

A.x+3

B.x +1

C.(z+2)(z+1)

D. None of these


https://dl.doubtnut.com/l/_WbmkAC5IOtan
https://dl.doubtnut.com/l/_oD2ggLAzWRQD

Answer: A

o Watch Video Solution

16. If (x+1) is the HCF of (a,ac2 + bx + c) and
(bx2 + ax + c), then the value of c is

A.O

B.2

C.1

D.3

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_oD2ggLAzWRQD
https://dl.doubtnut.com/l/_YusVckNEl1TU

17. The volume of a cube is given by

V = x% — 922 + 27z — 27.The edge of the cube is

A (z + 3)
B.3(xz — 3)
C.(xz — 3)

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_YusVckNEl1TU
https://dl.doubtnut.com/l/_PdaRDfDTULzH

18. The area of a square is given by A = z? + 4z + 4,

then the diagonal of the square is

A (z — 2)
B. (z + 2)
c.v3(z - V)

D.2(z + 2)

Answer: D

° Watch Video Solution

19. If (x+k) is the HCF of (z®+az+b) and

(wz + px + q),then the value of k is


https://dl.doubtnut.com/l/_UzVTFLmBgmWC
https://dl.doubtnut.com/l/_jcxPmwhbTeGf

pP+q
—b
B.q
pP—a
b —
c.-—4
b—q
—b
D.q
a—p
Answer: B

° Watch Video Solution

1 3
20. The area of a rhombus is 5:{32 + 2 + 7 Then, its

smaller diagonal is

Ax+2

B.x+ 3



https://dl.doubtnut.com/l/_jcxPmwhbTeGf
https://dl.doubtnut.com/l/_YsFnYdMytcit

Cz+1

D. None of these

Answer: C

0 Watch Video Solution

21. The volume of a cuboid isz® — 7z + 6, then the

longest side of cuboid is

Az +3
B.x — 1
Cx—2

D. None of the above


https://dl.doubtnut.com/l/_YsFnYdMytcit
https://dl.doubtnut.com/l/_I0CN5l5H9YVS

Answer: A

° Watch Video Solution

22. HCF and LCM of two polynomials are (x+y) and
3z° + 5zly + 223y? — 32%y® — Bxyt — 2¢°,
respectively. If one of the polynomials is (:1:2 — y2). Then,
the other polynomial is

A 3z* + 8z3y + 10z2y® + 2y

B. 3z + 8z3y + 10z%y* + Tzy® + 2¢*

C.3z* + 8zy® + 1022y = Tzxy® + 2u*

D. None of the above


https://dl.doubtnut.com/l/_I0CN5l5H9YVS
https://dl.doubtnut.com/l/_qxoef8zNONdl

Answer: B

o Watch Video Solution

23. If (x-a) is the HCF of 2 — 2 — 6 and 2 + 3z — 18.
Then, the value of a is

A.3

B.4

C.1

D.?2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_qxoef8zNONdl
https://dl.doubtnut.com/l/_kLRZtdZZplAW

24. For what value of a, the HCF of y* — 2y — 24 and
vy —ay — 6is (y-6) ?

A. 15

B.5

C.30

D.6

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_kLRZtdZZplAW
https://dl.doubtnut.com/l/_PCQcEwVTXp9I

